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3XML�GDQ�6\XNXU�NLWD�SDQMDWNDQ�NHSDGD�7XKDQ�<DQJ�0DKD�(VD��$WDV�VHJDODEHUNDK�

SHUWRORQJDQ GDQ NDVLK VD\DQJ�1\D VHKLQJJD SHQXOLV GDSDW PHQ\HOHVDLNDQ 7XJDV

$NKLU \DQJ EHUMXGXO ³3HUDQFDQJDQ %DXUDQ� 3HPDVDUDQ 80.0 -RKQ .HEDE� 	�

*UDQG� 6ZHHW� &RIIHH� 0HQJJXQDNDQ� 0HWRGH� 6:27� GDQ� 4630´� LQL GDSDW�

GLVHOHVDLNDQ� JXQD� PHPHQXKL� VDODK� VDWX� SHUV\DUDWDQ� GDODP� PHQ\HOHVDLNDQ

SHQGLGLNDQ�SDGD MXUXVDQ WHNQLN LQGXVWUL�8QLYHUVLWDV 7HONRP�

3HQXOLV PHQ\DGDUL EDKZD GDODP SURVHV SHQXOLVDQ VNULSVL LQL EDQ\DN PHQJDODPL�

NHQGDOD�� QDPXQ� EHUNDW� EDQWXDQ�� ELPELQJDQ�� .HUMDVDPD� GDUL� EHUEDJDL SLKDN� GDQ�

EHUNDK�GDUL�7XKDQ�VHKLQJJD�NHQGDOD�NHQGDOD�\DQJ�GLKDGDSL�WHUVHEXW GDSDW GLDWDVL�

6HODQMXWQ\D SHQXOLV PHQJXFDSNDQ WHULPDNDVLK NHSDGD VHPXD SLKDN \DQJ WHODK

PHPEDQWX GDODP SURVHV SHQXOLVDQ 7XJDV $NKLU LQL GLDQWDUDQ\D DGDODK�

�� 3HPELPELQJ� �� 7XJDV� DNKLU� SHQXOLV�� ,EX� 0DULD� 'HOODURVDZDWL� ,GD ZLFDNVDNWL�

6�7�� 0�%�$ DWDV ELPELQJDQ GDQ PDVXNDQ�PDVXNDQQ\D NHSDGD SHQXOLV�

�� 3HPELPELQJ � 7XJDV DNKLU SHQXOLV� ,EX 7LDUD�9HULWD <DVWLFD� 6�7�0�7� DWDV

ELPELQJDQ GDQ�PDVXNDQ�PDVXNDQQ\D NHSDGD SHQXOLV�

�� .HOXDUJD� WHUFLQWD� ,EX� %DSDN� 1HQHN� .DNHN� $GLN�DGLN VHUWD SDUWQHU

SHQXOLV DWDV GXNXQJDQ NDVLK�VD\DQJ�GRDQ\D VHODPD SHODNVDQDDQ�7XJDV�$NKLU LQL�

�� .HSDGD VHRUDQJ�0DKDVLVZL�\DQJ�WXOXV�LNOKDV�PHPEDQWX�VD\D�VHODPD�PDVD�

NXOLDK�GDUL�VHPHVWHU���GDQ�VHODPD�VD\D�EHUNXOLDK�GL�7HONRP�8QLYHUVLW\�

�� 6HUWD VHOXUXK SLKDN \DQJ WHODK PHPEDQWX GDODP SURVHV SHQXOLVDQ 7XJDV

$NKLU LQL�EDLN�VHFDUD ODQJVXQJ�PDXSXQ�WLGDN�ODQJVXQJ�

3HQXOLV� PHQ\DGDUL� EHWXO� EDKZD SHQXOLVDQ� WXJDV� DNKLU� LQL� PDVLK� MDXK� GDUL

NHVHPSXUQDDQ� ZDODX EDJDLPDQD SXQ SHQXOLV EHUXVDKD PHPEHULNDQ \DQJ WHUEDLN

GDUL�NHWLGDNVHPSXUQDDQ�\DQJ�DGD��'HPLNLDQ�VHJDOD�VDUDQ�GDQ�NULWLN�\DQJ�WHUWXMX

SDGD�SHQXOLVDQ�LQL��SHQXOLV�DNDQ�PHQHULPD�GHQJDQ�LNKODV��%HVDU�KDUDSDQ�SHQXOLV

DJDU�SHQHOLWLDQ�LQL�GDSDW�PHPEHULNDQ�PDQIDDW�VHNDOLJXV�PHQDPEDK�SHQJHWDKXDQ

EDJL EHUEDJDL�SLKDN��$PLQ
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